Picture

'Profiles, Composites

Description

Dimensio Unit

n

Skyroof Plus Series Profiles
ALM.PRF.G1025.0250 Skyroof Flap Profile 250-Cm Pcs
ALM.PRF.G1025.0300 Skyroof Flap Profile 300-Cm Pcs
& ALM.PRF.G1025.0350 Skyroof Flap Profile 350-Cm Pcs
ALM.PRF.G1025.0400 Skyroof Flap Profile 400-Cm Pcs
ALM.PRF.G1025.0450 Skyroof Flap Profile 450-Cm Pcs
ALM.PRF.P1044.0400 Skyroof 2017 (4597) Gutter Profile Pcs
ALM.PRF.P1044.0500 Skyroof 2017 (4597) Gutter Profile Pcs
L ALM.PRF.P1044.0600 Skyroof 2017 (4597) Gutter Profile Pcs
ALM.PRF.P1044.0700 Skyroof 2017 (4597) Gutter Profile Pcs
ALM.PRF.P1044.0800 Skyroof 2017 (4597) Gutter Profile Pcs
ALM.PRF.G4007.0300 40x20 Aluminum Profile - 300 cm Pcs
ALM.PRF.G4007.0400 40x20 Aluminum Profile - 400 cm Pcs
ALM.PRF.G4007.0500 40x20 Aluminum Profile- 500 cm Pcs
ALM.PRF.G4007.0600 40x20 Aluminum Profile - 600 cm Pcs
ALM.PRF.G4007.0700 40x20 Aluminum Profile - 700 cm Pcs
ALM.PRF.G4033.0300 150x150 mm Aluminum Profile Pcs
ALM.PRF.G4033.0400 150x150 mm Aluminum Profile Pcs
ALM.PRF.G4033.0500 150x150 mm Aluminum Profile Pcs
ALM.PRF.G4033.0600 150x150 mm Aluminum Profile Pcs
,_) ALM.PRF.G1049.0450 Skyroof Z Profile 70x53x53x3mm Pcs
ALM.PRF.P1045.0600 Skyroof Back Cover Pcs
ALM.PRF.G1044.0400 Pin Bearing Cover Profile - 400 cm Pcs
ALM.PRF.G1044.0500 Pin Bearing Cover Profile - 500 cm Pcs
B ) ALM.PRF.G1044.0600 Pin Bearing Cover Profile - 600 cm Pcs
ALM.PRF.G1044.0700 Pin Bearing Cover Profile - 700 cm Pcs




Picture

Description

Dimensio
n

Unit

ALM.PRF.G1044.0800 Pin Bearing Cover Profile - 800 cm Pcs
@ DMR.PRF.G2002.0600 @51x3 mm Steel Pipe - 6m mt
El :: ALM.PRF.G1103.0600 Perimeter Lighting Profile Pcs
[ DMR.APR.G3002.BRUT Reflector Pcs
ALM.PRF.P1040.0600 Skyroof Module Cover Profile 600cm 6m Pcs

[
ALM.PRF.P1040.0800 Skyroof Module Cover Profile 800cm 8m Pcs

Picture

Skyroof Plus Series Aparatus

Description

Dimensio
n

Unit

‘a DMR.APR.G1178.PSMZ 150X150X3 mm Anchorage Apparatus (Without Drainage) - Pcs
DMR.APR.G1176.PSMZ 150X150X3 mm Anchorage Apparatus (With Drainage) - Pcs
DMR.APR.G1179.PSMZ 150X150X3 mm Anchorage Cap

LJJ ALM.PRF.P1043.0232 Skyroof Short Pillar
ALM.APR.P1035.BRUT 2 Module System Connecting Aparatus - Pcs
ALM.APR.P1036.BRUT 4 Module System Connecting Aparatus - Pcs




Dimensio

Picture Description n Unit
ALM.APR.P1041.BRUT Bottom Cover For 4 Module System Without Water Exit - Pcs
’7 ALM.APR.G1084.BRUT Bottom Cover For 4 Module System With Water Exit - Pcs
ALM.APR.G1085.BRUT Module Aparatus - Pillar Connecting Part - Pcs
ALM.APR.G1083.BRUT Bottom Cover For 2 Module System With Water Exit - Pcs
ALM.APR.P1040.BRUT Bottom Cover For 2 Module System Without Water Exit - Pcs
ALM.APR.G1029.BRUT 25x25 Aluminum Flange - Pcs
( O ALM.APR.G1012.BRUT @70 mm Water Exit Pipe - Pcs
ALM.APR.G1079.BRUT 150x150 Pillar Bottom Cover - Pcs
ALM.APR.G1078.BRUT 150X150 Pillar Inner Cover - Pcs
t ALM.APR.P1046.BRUT Skyroof (4597) Pillar Upper Cap - Pcs
ALM.APR.G1090.BRUT Skyroof Motor Assemble Aparatus (Con 50) - Pcs
ALM.APR.G1091.BRUT Skyroof Motor Assemble Aparatus (Con 35) - Pcs
DMR.APR.P1156.PSMZ Skyroof Motor to Pannel Connector Con 35 - Pcs
DMR.APR.P1160.PSMZ Skyroof Motor to Pannel Connector Con 50 - Pcs




Dimensio

Picture Description n Unit
4\ ALM.APR.G2008.BRUT Skyroof Clamp - Pcs
I% ALM.APR.G1067.BRUT Panel Cover - Pcs
@ ALM.APR.G1080.BRUT 150X150 Support Pillar Connection Apparatus - Pcs
\/
‘/‘;‘ ; DMR.APR.P1159.BRUT Skyroof Ceiling Aparatus - Pcs
NE DMR.APR.G1151.ELGV Skyroof Wall Assembly Apparatus 240x158 - Pcs
<
/ DMR.APR.G1172.PSMZ Skyroof Power Pin - Pcs
/ DMR.APR.G1173.PSMZ Skyroof Fixed Pins - Pcs
M DMR.APR.G1125.PSMZ Skyroof Short Power Pin - Pcs
\ DMR.APR.G1030.ELGV Hanger System M30 Bar - Pcs
/ DMR.APR.G1174.PSMZ Skyroof Fixed Pins With Cable Out - Pcs
( DMR.APR.G1175.PSMZ Skyroof Short Power Pin With Cable Out - Pcs
/ DMR.APR.G1031.ELGV Hanger System Wall Flange - Pcs
‘ IR
m\ DMR.APR.G1028.ELGV Hanger System Bar Flange - Pcs
\ ‘|
( DMR.APR.G1029.ELGV Hanger System Bar Bolt Nut - Pcs
(B> HRD.SMN.G0022.ZINC M30 Galvanized Nut - Pcs




Dimensio

Picture Description n Unit
'\\\ HRD.PUL.GO014.ZINC M30 Galvanized Washer - Pcs
[ DMR.APR.G1181.ELGV Skyroof Hanger System Corner Connector - Pcs
7 DMR.APR.P1101.ELGV Skyroof Hanger System Aparatus - Pcs
[ U = ALM.APR.P1048.BRUT Front Pannel-Gutter Connector Apparatus -Right - Pcs
| |
k‘\k. ALM.APR.P1047.BRUT Front Pannel-Gutter Connector Apparatus -Left - Pcs
é ALM.APR.P1039.BRUT Support Pillar Water Exit Pipr - 50x70 - Pcs
QS
— HRD.CVT.G0100.ZINC M12 Stud - Pcs
A
i
,///%‘\‘ HRD.PUL.G0003.PSMZ M12 Inox Washer - Pcs
4
%} HRD.SMN.G0008.ZINC M12 Acorn Nut - |Pes
HRD.SMN.G0011.PSMZ M12 Inox Nut - Pcs
7“‘\\ HRD.PUL.G0019.PSMZ M16 Stainles Washer
&/
N) HRD.PUL.G0001.PSMZ M8 Washer Stainles Steel
N4
=2 HRD.SMN.G0016.PSMZ M16 Stainles Nut
HRD.SMN.G1002.PSMZ M10 Stainles Fiber Nut
(S HRD.SMN.G1035.PSMZ M4 Stainles Fiber Nut




Picture

HRD.CVT.G1151.PSMZ

Description

M4X10 mm Stainles Hexagon-Head Bolt

HRD.VID.G1088.PSMZ

3,5X20 Stainles Screw

HRD.CVT.G1109.PSMZ

M12x40 Stainles Bolt

HRD.CVT.G0052.PSMZ

M16 Stainles Bolt

HRD.CVT.G1044.PSMZ

M8x25 Stainles Hexagon-Head Bolt

HRD.CVT.G1127.PSMZ

M8X35 Stainles Bolt

HRD.CVT.G1035.PSMZ

M8X16 Rounded Head Bolt Stainless

HRD.CVT.G0013.PSMZ

M6x16 inox Bolt

HRD.PUL.G1016.PSMZ

M10 Inox Washer

HRD.CVT.G1126.PSMZ

M10 Grub Screw

‘J\,‘

HRD.SMN.G0005.PSMZ

M10 Stainles Nut

HRD.VID.G1087.PSMZ

4,5x20mm Rounded Head Self Tapping Screw Stainles

HRD.VID.G1084.PSMZ

4,2x19 Trifon Stainles Screw

HRD.PUL.G1023.PSMZ

M15 Segment




Picture

HRD.PUL.G1022.PSMZ

Description

M 10 Segment

Dimensio

n

Unit

Picture

Plastics

HRD.PUL.G1024.PSMZ

M8 Segment

Description

Dimensio
n

Unit

PLS.APR.G3042.SYAH

Flap Pin Bearing

PLS.APR.G3041.SYAH

Flap Gutter Pin Bearing

PLS.APR.G3042.BRUT

Skyroof Insulation Aparatus-Rigt

PLS.APR.G3043.BRUT

Skyroof Insulation Aparatus-Left

ELK.SRF.G1000.0021

Skyroof IP67 Soket

PLS.APR.G3040.SFAF

Skyroof Hidden Led Plastic Cover

cO

PLS.FTL.G2024.SYAH

Skyroof Panel Gasket

~
\

)
///

V2
}m\
U \A

PLS.FTL.G2025.SYAH

Skyroof Gutter Bottom Gasket

PLS.FTL.G2023.SYAH

Skyroof Panel Bottom Gasket

PLS.APR.P1015.SYAH

4597 Gutter Front Cover Gasket




Picture

PLS.APR.G3040.BYAZ

Description

Perimeter Lighting Corner Plastic

Dimensio
n

Unit

/ PLS.APR.G1111.SFAF

Perimeter Lighting Cap

D PLS.PRF.G1002.0200

Picture

Electrical Equipment

Cable Channel

Description

Dimensio
n

Unit

ELK.LED.G1000.0001

6 Lens Hidden Led

ELK.LED.G1000.0021

24 Volt Linear Led

&% ELK.SRF.G1040.BRUT

Wago Klemens

ELK.SMF.G2000.0001

Telis 1 Remote Control

ELK.SMF.G2000.0002

Telis 4 Remote Control

ELK.SMF.G2000.0003

Remote Control Telis 16 RTS

* ELK.SMF.G3000.0031

CON35 Motor

ELK.SMF.G3000.0032

CON50 Motor




Dimensio

Picture Description n Unit

\ﬁ alll]a’] *‘ ELK.PNO.G1000.0023 Skyroof Electric Panel With Perimeter Ligiting

“ oLJel ~‘ ELK.PNO.G1000.0016 Skyroof Electric Panel




Profiles, Composites

Picture Description Dimension Unit

Skyroof Compact Series Profiles
ALM.PRF.G2002.0250 Skyroof Compact Flap Profile 250-Cm 2,5m Pcs
ALM.PRF.G2002.0300 Skyroof Compact Flap Profile 300-Cm 3,0m Pcs

&ﬁﬂ
ALM.PRF.G2002.0350 Skyroof Compact Flap Profile 350-Cm 3,5m Pcs
ALM.PRF.G2002.0400 Skyroof Compact Flap Profile 400-Cm 40m Pcs
ALM.PRF.G2002.0450 Skyroof Compact Flap Profile 450-Cm 45m Pcs
ALM.PRF.G2001.0400 Skyroof Compact Gutter Profile 4m Pcs
ALM.PRF.G2001.0500 Skyroof Compact Gutter Profile 5m Pcs
:1 ALM.PRF.G2001.0600 Skyroof Compact Gutter Profile 6m Pcs
" ALM.PRF.G2001.0700 Skyroof Compact Gutter Profile 7m Pcs
ALM.PRF.G2001.0800 Skyroof Compact Gutter Profile 8m Pcs
ALM.PRF.G4007.0300 40x20 Aluminum Profile - 300 cm 3m Pcs
ALM.PRF.G4007.0400 40x20 Aluminum Profile - 400 cm 4m Pcs
0

) ALM.PRF.G4007.0500 40x20 Aluminum Profile- 500 cm 5m Pcs
ALM.PRF.G4007.0600 40x20 Aluminum Profile - 600 cm 6m Pcs
ALM.PRF.G4007.0700 40x20 Aluminum Profile - 700 cm 7m Pcs
ALM.PRF.G4006.0400 Aluminium Profile 120x120 mm - 400 cm 4m Pcs
- ALM.PRF.G4006.0500 Aluminium Profile 120x120 mm - 500 cm 5m Pcs
- ALM.PRF.G4006.0600 Aluminium Profile 120x120 mm - 600 cm 6m Pcs
ALM.PRF.G1049.0450 Skyroof Z Profile 70x53x53x3mm 6m Pcs
ALM.PRF.G1044.0400 Pin Bearing Cover Profile - 400 cm 4,0m Pcs
ALM.PRF.G1044.0500 Pin Bearing Cover Profile - 500 cm 50m Pcs
~ ALM.PRF.G1044.0600 Pin Bearing Cover Profile - 600 cm 60m  |Pcs




Picture Description Dimension Unit

ALM.PRF.G1044.0700 Pin Bearing Cover Profile - 700 cm 7,0m Pcs
ALM.PRF.G1044.0800 Pin Bearing Cover Profile - 800 cm 8m Pcs
O DMR.PRF.G2002.0600 @51x3 mm Steel Pipe - 6m 6m mt

ALM.PRF.G1103.0600 Perimeter Lighting Profile 6m Pcs

[ DMR.APR.G3002.BRUT Reflector - Pcs

ALM.PRF.P1040.0600 Skyroof Module Cover Profile 600cm 6m Pcs

ALM.PRF.P1040.0800 Skyroof Module Cover Profile 800cm 8m Pcs

Picture Description Dimension Unit

Skyroof Compact Series Aparatus

" DMR.APR.G1167.PSMZ 120x120X3 mm Anchorage Apparatus (Without Drainage) - Pcs

DMR.APR.G1166.PSMZ 120x120X3 mm Anchorage Apparatus (With Drainage) - Pcs

DMR.APR.G1168.PSMZ 120x120X3 mm Anchorage Cap -

LJ ALM.APR.G2004.BRUT Skyroof Short Pillar -
e

ALM.APR.G1029.BRUT 25x25 Aluminum Flange - Pcs




Picture Description Dimension Unit

O ALM.APR.G1012.BRUT @70 mm Water Exit Pipe - Pcs

ALM.APR.G2021.BRUT 120x120 Pillar Inner Cover - Pcs

ALM.APR.G1090.BRUT Skyroof Motor Assemble Aparatus (Con 50) - Pcs
ALM.APR.G1091.BRUT Skyroof Motor Assemble Aparatus (Con 35) - Pcs
DMR.APR.G1162.PSMZ Skyroof Compact Motor to Pannel Connector Con 35 - Pcs
DMR.APR.G1161.PSMZ SSkyroof Compact Motor to Pannel Connector Con 50 - Pcs

BN ALM.APR.G2008.BRUT Skyroof Clamp ; Pcs
% ALM.APR.G2003.BRUT Panel Cover - Pcs
DMR.APR.G2002.PSMZ 120x120 Support Pillar Connection Apparatus - Pcs
DMR.APR.G2011.BRUT Skyroof Ceiling Aparatus - Pcs
DMR.APR.G2010.BRUT Skyroof Compact Wall Assembly Apparatus - Pcs

DMR.APR.G1172.PSMZ Skyroof Power Pin - Pcs

DMR.APR.G1125.PSMZ Skyroof Short Power Pin - Pcs

/ DMR.APR.G1173.PSMZ Skyroof Fixed Pins - Pcs




Picture Description Dimension Unit
/ DMR.APR.G1174.PSMZ Skyroof Fixed Pins With Cable Out - Pcs
( DMR.APR.G1175.PSMZ Skyroof Short Power Pin With Cable Out - Pcs
| ‘ ALM.APR.P1048.BRUT Front Pannel-Gutter Connector Apparatus -Right - Pcs
L
> “\_ ALM.APR.P1047.BRUT Front Pannel-Gutter Connector Apparatus -Left - Pcs
) ALM.APR.P1039.BRUT Support Pillar Water Exit Pipr - 50x70 ; Pcs
PN
— HRD.CVT.G0100.ZINC M12 Stud - Pcs
A
i
‘//,T;C HRD.PUL.G0003.PSMZ M12 Inox Washer - Pcs
@] HRD.SMN.G0008.ZINC M12 Acorn Nut - Pcs
(B HRD.SMN.G0011.PSMZ M12 Inox Nut - Pcs
,{R\: HRD.PUL.G0019.PSMZ M16 Stainles Washer - Pcs
"
‘,_//%\: HRD.PUL.G0001.PSMZ M8 Stainles Washer - Pcs
/4
T HRD.SMN.G0016.PSMZ M16 Stainles Nut - Pcs
S HRD.SMN.G1002.PSMZ M10 Stainles Fiber Nut - Pcs
e HRD.SMN.G1035.PSMZ M4 Stainles Fiber Nut - Pcs
HRD.CVT.G1151.PSMZ M4X10 mm Stainles Hexagon-Head Bolt - Pcs




Picture Description Dimension Unit

HRD.VID.G1088.PSMZ 3,5X20 Stainles Screw - Pcs
HRD.CVT.G1109.PSMZ M12x40 Stainles Bolt - Pcs
HRD.CVT.G0052.PSMZ M16 Stainles Bolt - Pcs
HRD.CVT.G1044.PSMZ M8x25 Stainles Hexagon-Head Bolt - Pcs
—— HRD.CVT.G1127.PSMZ M8X35 Stainles Bolt - Pcs
—®
D HRD.CVT.G1035.PSMZ M8X16 Rounded Head Bolt Stainless - Pcs
Q)
\ HRD.CVT.G0013.PSMZ M6x16 inox Bolt - Pcs
@
) HRD.PUL.G1016.PSMZ M10 Inox Washer - Pcs
\ HRD.CVT.G1126.PSMZ M10 Grub Screw - Pcs
= HRD.SMN.G0005.PSMZ M10 Stainles Nut - Pcs
D HRD.VID.G1087.PSMZ 4,5x20mm Rounded Head Self Tapping Screw Stainles
()
HRD.VID.G1084.PSMZ 4,2x19 Trifon Stainles Screw
2N HRD.PUL.G1023.PSMZ M15 Segment
P HRD.PUL.G1022.PSMZ M 10 Segment
L
’; HRD.PUL.G1024.PSMZ M8 Segment




Picture Description Dimension Unit

Picture Description Dimension Unit

Plastics
®/) PLS.APR.G3042.SYAH Flap Pin Bearing
@ PLS.APR.G3041.SYAH Flap Gutter Pin Bearing
‘j PLS.APR.G3044.BRUT Skyroof Compact Insulation Aparatus-Rigt
)
N PLS.APR.G3045.BRUT Skyroof Compact Insulation Aparatus-Left
AN ELK.SRF.G1000.0021 Skyroof IP67 Soket
PLS.APR.G3040.SFAF Skyroof Hidden Led Plastic Cover
@ PLS.FTL.G2024.SYAH Skyroof Panel Gasket
PLS.APR.G3040.BYAZ Perimeter Lighting Corner Plastic
g
/ PLS.APR.G1111.SFAF Perimeter Lighting Cap
J/
——2
PLS.PRF.G1002.0200 Cable Channel

Picture Description Dimension Unit

Electrical Equipment




Picture

ELK.LED.G1000.0001

Description

6 Lens Linear Led

Dimension

Unit

ELK.LED.G1000.0021

24 Volt Linear Led

ELK.SRF.G1040.BRUT

Wago Klemens

&= = ELK.SMF.G2000.0001 Telis 1 Remote Control
S
e = .
&= ELK.SMF.G2000.0002 Telis 4 Remote Control
N

ELK.SMF.G2000.0003

Remote Control Telis 16 RTS

ELK.SMF.G3000.0031

CON35 Motor

ELK.SMF.G3000.0032

CON50 Motor

| Jo00e00)]

ELK.PNO.G1000.0016

Skyroof Electric Panel

ELK.PNO.G1000.0016

Skyroof Electric Panel




